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a. A is correct, R is correct  b. A is correct, R is incorrect 
c. A is incorrect, R is correct d. A is incorrect, R is incorrect 
 
gpd;tUtdtw;iw Ma;f 
$w;W (A): m];fhhp]; Yk;gphpf;fha;l;l]; cUisg; GOf;fs; 
njhFjpiar; rhh;e;jJ. 
fhuzk; (R): mit %tLf;F caphpdk; kw;Wk; cly; fz;lq;fshf 
gphpf;fg;gl;Ls;sd. 
a. A rhp> R rhp    b. A rhp> R jtW 
c. A jtW> R rhp   d. A jtW> R jtW 
 

4. Consider the following 
Assertion (A): Gymnosperm plants are without ovary 
Reason (R): Hence they do not produce fruits 
a. A is correct, R is correct  b. A is correct, R is incorrect 
c. A is incorrect, R is correct d. A is incorrect, R is incorrect 
gpd;tUtdtw;iw Ma;f 
$w;W (A): [pk;Ndh];ngh;k; jhtuq;fs; #w;ig mw;wit 

fhuzk; (R): ,it fdpfis cz;lhf;Ftjpy;iy 

a. A rhp> R rhp    b. A rhp> R rhpay;y 
c. A rhpay;y> R rhp   d. A rhpay;y> R rhpay;y 
 

5. The largest division of the living world is ________ 
a. Order  b. Kingdom  c. Phylum  d. Family 
caphp cyfpy; kpfg;nghpa gphpT 
a. thpir  b. NgUyfk;  c. njhFjp  d. FLk;gk; 
  

6. Fucoxanthin is __________ coloured pigment 
a. Yellow  b. Red  c. Blue  d. Brown 
gpa+Nfhrhe;jpd; xU ______ epw epwkpahFk; 
a. kQ;rs;  b. rptg;G  c. ePyk;  d. gOg;G 

 
7. Which one of the following is the symbiotic fungi? 

a. Mycorrhiza  b. Rhizopus c. Puccinia  d. Ustilago 
gpd;tUtdtw;Ws; vJ $l;Laphp g+Q;irahFk;? 
a. ikf;Nfhiurh  b. iuNrhg]; c. gf;rPdpah d. c];bNyhNfh 

 
8. Tobacco Mosaic virus is a _______ shaped virus 

a. Spherical  b. Helical  c. Rod  d. Complex 
Gifapiy nkhirf; itu]; xU ______ tbtk; cilaJ 

a. Nfhs tbtk;  b. jpUF  c. Nfhy;  d. rpf;fyhd 
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9. Match the following 

A. Cyanophyceae  1. Polysiphonia 
B. Chlorophyceae  2. Laminaria 
C. Phacophyceae  3. Oscillatoria 
D. Rhodophyceae  4. Chylamydomonas 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 3 1 2 
d. 3 4 2 1 
nghUj;Jf 
A. ePyg;gr;irghrpfs;  1. ghypi]/Nghdpah 

B. gr;irghrpfs;   2. NykpNdhpah 

C. gOg;G ghrpfs;  3. Mrpyl;Nlhhpah 

D. rptg;G ghrpfs;  4. fpshikNlhNkhd]; 

 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 3 1 2 
d. 3 4 2 1 
  

10. Which algae are called as giant kelp? 
a. Volvox  b. Macrocystis   c. Cladophora  d. Lichen 
ve;j ghrpfs; nghpa nfy;g; vd;W miof;fg;gLfpd;wd? 
a. thy;thf;]; b. Nkf;Nuhrp];b]; c. fpshNlhNghuh  d. iyf;fd; 
 

11. Which hormone initiates the process of oogenesis? 
a. Estrogens b. Progesterone c. Testosterone  d. Thymosin 
mz;lr;nry; cUthf;fj;ij J}z;Lk; `hh;Nkhd; vJ? 
a. <];l;Nuh[d;   b. GNuhn[];l;uhd; 

c. nl];Nlh];Buhd;  d. ijNkhrpd; 
 

12. Which hormone essential for the formation of placenta? 
a. Progesterone  b. Estrogens c. Relaxin  d. Oxytosin 
ve;j `hh;Nkhd; jha;-Nra; ,izg;Gj;jpR cUthf;fj;jpw;f 
mtrpakhfpwJ? 
a. GNuhn[];bNuhd; b. <];l;Nuh[d; c. hpyhf;rpd; d. Mf;rpNlhrpd; 
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13. Kurosawa observed Bakanae disease or foolish seedling disease in 
which crop? 
a. Wheat  b. Rice  c. Tobacco  d. Cauliflower 
FUNrhth ve;j gaphpy; “gf;fhNd Neha;” my;yJ “Nfhkhspj;jd 
Nehia” fz;lwpe;jhh;? 

a. NfhJik b. ney;  c. Gifapiy d. fhypgpsth; 
 

14. Human Insulin was first discovered by whom? 
a. Fredrick Banting   b. Charles Best 
c. MacLeod     d. All of these 
kdpj ,d;Rypd; Kjd;Kjypy; ahuhy; fz;lwpag;gl;lJ? 
a. /gpnul;hpf; ghd;bq;   b. rhh;y]; ng];l; 

c. nkf;yhl;    d. ,it midj;Jk; 

 
15. The Corona radiata is formed as _______ cells in ovum 

a. Leydig cells   b. Sertoli cells  
c. Vitelline cells   d. Follicle cells 
mz;lj;jpYs;s fNuhdh NubNal;lh ______ nry;fshy; MdJ 

a. yPbf; nry;fs;   b. nrh;l;Nlhyp nry;fs; 
c. tpl;lypd; nry;fs;  d. ghypf;fps; nry;fs; 
 

16. Mangrove plants meet high osmotic pressure in the soil, they overcome 
the problem of water uptake by 
a. accumulation of electrolytes in the vacuole of the cell 
b. increase in the root and shoot ratio 
c. reduce the respiration rate 
d. reduce the evaporation rate 
rJg;Gepy jhtuq;fs; kz;zpYs;s mjpfg;gbahd rt;t+L guty; 
mOj;jj;ij vjph; nfhs;fpd;wd.  ePh; cwpQ;Rjiy rhpnra;a mitfs;  
a. vyf;l;Nuhiyl;Lfis nry;ypd; fhw;W ntw;wplq;fspy; Ftpf;fpd;wd. 
b. Nth; kw;Wk; jz;L tpfpjj;ij mjpfhpf;fpd;wd.  
c. Rthr msit Fiwf;fpd;wd 
d. ePuhtpg; Nghf;fpd; msit Fiwf;fpd;wd. 

 
17. _________ do not take part in mitotic division 

a. Hetero chromatin   b. Euchromatin 
c. Nucleosome    d. Lamp brush chromosome  
_________ ikl;lhrp]; nry; gphpjypy; gq;F ngWtjpy;iy. 
a. n`l;bNuh FNuhNkhl;bd;  b. a+FNuhNkl;bd; 
c. epa+f;spNah Nrhk;     d. Nyk;g;gpu]; FNuhNkhNrhk;  
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18. Which of the following fact is incorrect about mitosis? 

a. It occurs only in body cells 
b. Mitosis has two divisions 
c. Maintenance of 2n chromosomes 
d. Two diploid cells are produced 
ikl;lhrp]; gw;wpa gpd;tUk; $w;Wfspy; jtwhdJ vJ? 
a. cly; nry;fspy; kl;Lk; eilngWfpwJ 
b. ikl;lhrp]; ,U gFg;Gfisf; nfhz;lJ 

c. ‘2n’ FNuhNkhNrhk;fs; epiyepWj;jg;gLfpwJ 
d. ,U ,Ukanry;fs; Njhd;Wfpd;wd 

 
19. Which of the following facts are correct about prokaryotic cells 

I. Prominent nucleus is absent 
II. Nucleolus is present 
III. Mitosis and meiosis cell divisions are takes place 
IV. Enveloped cell organelles are absent 
a. I and II are correct   b. I and IV are correct 
c. II and III are correct  d. III and IV are correct 
gpd;tUk; GNuhNfhpNahl;L nry;fs; gw;wpa $w;Wfspy; rhpahdit vit? 
I. njspthd cl;fU fpilahJ 
II. epa+f;spNahy]; fhzg;gLfpwJ 
III. ikl;lhrp]; kw;Wk; kpahrp]; nry;gphpjy; eilngWfpwJ  
IV. rt;tpdhy; #og;gl;l nry; Ez;ZWg;Gfs; fpilahJ 
a. I kw;Wk; II rhp   b. I kw;Wk; IV rhp 
c. II kw;Wk; III rhp   d. III kw;Wk; IV rhp 

 
20. Which organelle of the following occurs only in plant cells? 

a. Peroxisome    b. Glyoxysome   
c. Desmosome   d. Ribosome 
jhtu nry;fspy; kl;Lk; ,Uf;Fk; Ez;ZWg;G vJ? 
a. nguhf;]pNrhk;   b. fpisahf;]pNrhk; 
c. nl];NkhNrhk;   d. iuNghNrhk; 

 
21. Match List I (chromoplasts) with List II (Pigment contents)  

List I       List II 
 A. Chloroplasts    1. Phycocyanin 

B. Pheoplasts    2. Phycoerythrin  
C. Rhodoplasts    3. Fucoxanthin 
D. Blue – green chromoplasts 4. Chlorophull a and b  
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  A B C D 
 a. 2 3 1 4  
 b. 3 2 4 1  
 c. 4 3 2 1  
 d. 4 2 1 3 

gl;bay; xd;Wld; (tz;zf; fzpfq;fs;) gl;bay; ,uz;il 
(epwkpf;$Wfs;) nghUj;Jf: 

  gl;bay; - I     gl;bay; - II 
A. gRq;fzpfq;fs;     1. /igNfhradpd; 

B. gOg;Gf;fzpfq;fs;     2. /igNfhvhpj;hpd; 

C. rptg;Gf; fzpfq;fs;    3. /g;A+Nfhrhe;jpd; 

D. ePyg; - gr;ir tz;zf; fzpfq;fs ; 4. gr;irak; V kw;Wk; gp 

  A B C D 
 a. 2 3 1 4  
 b. 3 2 4 1  
 c. 4 3 2 1  
 d. 4 2 1 3 
 
22. The vernacular name of this small herb with leaves sensitive to touch is 

a. Mimosa quadrivalvis   b. Mimosa microphylla 
c. Mimosa pudica    d. Mimosa pellita 
njhL czh;T kpFe;j ,iyfs; nfhz;l rpW nrb ,jd; jhtu ngah; 
_______ MFk;. 

a. ikNkhrh Fthl;Nu];FNyhp];  b. ikNkhrh ikf;Nuh/igy;yh 
c. ikNkhrh g+bfh     d. ikNkhrh ngy;ypl;lh 

 
23. Which of the following characters is true about fungi? They are  
 a. heterotrophic plants   b. chlorophylls plants 
 c. prokaryotic plants    d. autotrophic animals 
 fPNo nfhLf;fg;gl;ltw;wpy; G+Q;iriag; gw;wpa cz;ik vJ? mitfs;  
 a. n`l;bNuhbuhg;gpf; jhtuq;fs;  b. gr;raKila jhtuq;fs;  

 c. GNuhf;Nfhpahl;bf; jhtuq;fs;   d. Ml;Nlhbuhgpf; tpyq;Ffs;  

 
24. _____ is composed of one or more cenospecies that are not able to 

intercross 
a. Family  b. Comparium c. Herbarium d. Ecospecies 
_____ xd;W my;yJ gy $l;Lr; rpw;wpdq;fisf; nfhz;l fyg;gpdf; 
fy;tp nra;ahj jhtuf; FOthFk;. 
a. FLk;gk;   b. fk;Nghpak;  c. n`h;Nghpak;  d. #o;epiyr; rpw;wpdk;  
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25. Which is the native place of Eucalyptus? 

a. Asia  b. Antarctica  c. Africa  d. Australia 
a+f;fypg;l]; kuq;fspd; g+h;tPfk; vJ? 
a. Mrpah   b. mz;lhh;bfh   c. Mg;gphpf;fh   d. M];jpNuypah 

 
26. The production of Phyto-Plankton is reduced due to 

a. The burning of hydrocarbon  b. Deforestation 
c. Depletion of ozone layer   d. Climatic change  
/igl;Nlh gpshq;ld; cw;gj;jp Fiwaf; fhuzk; 
a. i`l;Nuh fhh;gd;fis vhpj;jy;  b. fhLfspd; mopT 
c. XNrhd; gly rPuopT     d. thdpiy khw;wg;gLjy; 

 
27. During centrifugation which one of the following will settle down last 

a. Chloroplast b. Ribosomes c. Mitochondria  d. Nucleus 
ikatpyf;F (centrifugation) nra;Ak;nghOJ fPo;fz;ltw;wpy; vit 
filrpahf tPo;gbthfpwJ. 
a. FNshNuhgpsh];l;   b. hpNghNrhk;fs; 
c. ikl;Nlh fhz;l;hpah  d. epa+f;spa]; 

 
28. Growth of plants only in water without soil is called 

a. Hypertonic   b. Hydroponics 
c. Hydrolytic   d. Hypotonic 
jhtuq;fis kz; ,y;yhky; jz;zPhpy; kl;Lk; tsh;f;Fk; Kiw ,t;thW 
miof;fg;gLfpwJ? 
a. i`g;gh;Nlhdpf;  b. i`l;NuhNghdpf;]; 

c. i`l;Nuhiybf;  d. i`g;NghNlhdpf; 

 
29. Match the following:   

Name of the Organism  Activity 
A. BGA and Rhizobium  1. Ammonification 
B. Bacteria and fungi   2. N2 fixation 
C. Pseudomonas bacteria  3. Nitrification 
D. Nitrobacteria    4. Denitrification 

A B C D 
a.  2 1 4 3 
b.  2 1 3 4 
c.  2 3 4 1 
d.  2 3 1 4 
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fPo;f;fz;ltw;iw nghUj;Jf. 
caphpdj;jpd; ngah;   nray; 
A. BGA kw;Wk; iuNrhgpak;  1. mNkhdpakhf;fy; 

B. ghf;l;hPah kw;Wk; g+Q;irfs; 2. iel;u[d; epiyepWj;jy; 

C. #NlhNkhdh]; ghf;l;hPah  3. iel;hpgpNf~d;  

D. iel;Nuh ghf;l;hPah   4. B-iel;hpgpNf~d; 

A B C D 
a.  2 1 4 3 
b.  2 1 3 4 
c.  2 3 4 1 
d.  2 3 1 4 

 
30. Approximate number of cells in the human body is 

a. 3.7 x 1013 b. 3.7 x 1014  c. 3.7 x 1012  d. 3.7 x 1015 

kdpj clypy; cs;s nry;fspd; vz;zpf;if Njhuhakhf  
a. 3.7 � 1013 b. 3.7 � 1014  c. 3.7 � 1012  d. 3.7 � 1015   

 
31. Which part of the cell is the brain of a cell? 

a. Lysosome b. Mitochondria   c. Ribosome d. Nucleus 
nry;ypd; %isahff; nray;gLk; nry;ypd; ghfk; vJ?  
a. iyNrhNrhk;  b. ikl;Nlhfhz;lhpah  c. iuNghNrhk; d. cl;fU  

 
32. Cellular organells with membrane are  

a. Endoplasmic Reticulum, Ribosomes and nuclei 
b. Lysosome, Golgi apparatus and Mitochondria 
c. Nuclei, Ribosome and Mitochondria 
d. Chromosome, Ribosome and Endoplasmic reticulum 
ciwAld; $ba nry; Ez;ZWg;Gf;fshdit 
a. vz;Nlhgpshr tiy> iuNghNrhk; kw;Wk; epA+f;spa];fs;  

b. iyNrhNrhk;> Nfhy;if cWg;G kw;Wk; ikl;Nlhfhz;l;hpah  

c. epA+f;spay;fs;> iuNghNrhk; kw;Wk; ikl;Nlhfhz;l;hpah  

d. FNuhNkhNrhk;> iuNghNrhk;> kw;Wk; vz;Nlhgpshrtiy 
 
33. Which of the following is not the function of cell wall? 

i. Provides shape to the cell. 
ii. Protects the cell from mechanical damage and infection. 
iii. Helps in cell to cell interaction. 
iv. Provides barrier to undesirable macromolecules. 
a. (i) only    b. (iv) only c. (ii), (iii) and (iv)     d. None of the above 
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fPo;f;fz;ltw;wpy; vJ nry;Rthpd; gzp ,y;iy?  
i. nry;Yf;F tbtj;ij mspf;fpwJ.  
ii. nry;iy mjd; ,af;f Nrjk; kw;Wk; Neha; njhw;wpypUe;J 

ghJfhf;fpwJ.  
iii. nry;fSf;fpilNa njhlh;ig vw;gLj;JfpwJ.  
iv. tpUk;gj;jfhj %yf;$WfSf;F jilahf tpsq;FfpwJ.  

a. i kl;Lk;    b. iv kl;Lk;  
c. ii, iii kw;Wk; iv   d. Nkw;fz;ltw;wpy; vJTkpy;iy  

 
34. Lysosomes originate from 

a. Mitochondrian b. Nucleus  c. ER  d. Golgi bodies 
iyNrhNrhk;fs; ________ ypUe;J cUthfpd;wJ 

a. ikl;Nlhfhz;l;hpad;   b. epA+f;spa]; 

c. vz;Nlhgpshr tiy   d. Nfhy;if clyk;  

 
35. What is true about Ribosome? 

a. The Prokaryotic ribosome are 80s. where ‘S’ stands for 
sedimentation        Co-efficient. 

b. They are composed of ribonucleic acids and proteins. 
c. They are found only in eukaryotic cells. 
d. These are self-splicing introns of some RNAs. 
iuNghNrhk; gw;wpa rhpahd $w;iw Njh;e;njL  
a. GNuhNfhpNahl;Lfspd; iuNghNrhk;fs; myF 80S 'S" vd;gJ   

tPo;gbthjy; Fzfk;  
b. iuNghepA+f;spf; mkpyk; kw;Wk; Gujq;fshy; MdJ  
c. A+Nfhpahl;L nry;fspy; kl;Lk; fhzg;gLk;  

d. Nehpilahd gpsT vd;l;uhd;fSil RNA MFk;.  

 
36. Consider the following Endocrine glands: 

1. Islets of Langerhans   - Produce Insulin 
2. Thyroid gland   - Produce diabetes 
3. Adrenal gland   - Produce Goitre 
Which of the following is correctly matched? 
a. 1 only  b. 1 and 2 only c. 2 and 3 only  d. 1, 2 and 3 
fPo;nfhLf;fg;gl;Ls;s ehskpy;yh Rug;gpfspy; vJ rhpahf nghUe;Jk;: 
1. yhq;fh;fhd; jpl;Lfs; - ,d;Rypid nfhLf;Fk;  
2. ijuha;L Rug;gp   - rh;f;fiu tpahjpia nfhLf;Fk;  
3. ml;hpdy; Rug;gp   - Kd; fOj;J fyioia nfhLf;Fk;  
a. 1 kl;Lk;    b. 1 kw;Wk; 2 kl;Lk;  
c. 2 kw;Wk; 3 kl;Lk;   d. 1> 2 kw;Wk; 3 
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37. Which hormone causes emotional disturbances? 
a. Thyroxine b. Oxytocin  c. Vasopressin d. Adrenalin 
ve;j `hh;Nkhdhy; czh;r;rp tag;gl;l njhe;juTfs; Vw;gLj;JfpwJ. 
a. ijuh]pd;   b. Mf;]p lhf;]pd;   c. thNrhgpurpd;   d. ml;hpdypd; 

 
38. The seminiferous tubule is the supporting cells are cells of specialized 

functions called 
a. cells of sertoli  b. cells of labules 
c. cells of ledig   d. Cells of scrotum 
Mz; ,dg;ngUf;f cWg;gpy; nrkpdpgpu]; nry;Yf;F gf;fgykhf ,Uf;f 
$ba rpwg;G gzpfis nra;af;$ba nry;fs; 
a. nrul;Nlhyp nry;fs; b. NygpNahy; nry;fs; 
c. yPbf; nry;fs;   d. tpijg;igapy; cs;s nry;fs; 

 
39. Human ovum contains no yolk. How can we call it? 

a. Alecithel Egg    b. Isolecithel Egg   
c. Mesolecithel Egg   d. Telolecithel Egg 
fUTzT mw;w kdpj mz;l mZtpid vt;thW miof;fyhk;?  
a. Vnyrpj;jy; Kl;il   b. INrhnyrpj;jy; Kl;il  
c. kPNrhnyrpj;jy; Kl;il  d. BNyhnyrpj;jy; Kl;il 

 
40. The hormones secreted by neurohypophysis are 

a. Vasopressin and Oxytocin 
b. FSH and TSH 
c. Neurohormones and Teratohormones 
d. ACTH and CCTH 
epa+Nuhi`g;Ngh igrp];rhy; Ruf;fg;gLk; `hh;Nkhd;fs; 
a. thNrhgpurpd; kw;Wk; Mf;]plhrpd; 

b. vg;.v];.vr;. kw;Wk; b.v];.vr;. 

c. epa+Nuh`hh;Nkhd; kw;Wk; nluNlh`hh;Nkhd; 

d. V.rp.b.vr;.  kw;Wk; rp.rp.b.vr;. 
 

41. In class of 50, 23 were girls and the rest were boys. What is the 
percentage of boys? 
a. 54%   b. 13.5%  c. 27%  d. 46% 
50 Ngh; nfhz;l tFg;gpy;> 23 khztpfs; kw;wth;fs; khzth;fs; vdpy; 
khzth;fspd; rjtPjk; vd;d? 
a. 54%   b. 13.5%  c. 27%  d. 46% 

 

42. The population of a town is increasing at the rate of 6% p.a. It was 
238765 in the year 2018. Find the population in the year 2016 
a. 225637  b. 268276  c. 212500  d. 220045 
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xU efuj;jpd; kf;fs;njhif Mz;Lf;F 6% mjpfhpf;fpwJ. 2018Mk; 
Mz;L kf;fs;njhif 238765 Mf ,Ue;jJ vdpy;> 2016Mk; Mz;L 
kf;fs;njhifiaf; fhz;f 
a. 225637  b. 268276  c. 212500  d. 220045 
 

43. Roja earned � 18,000 per month. She utilized her salary in the ratio 2 : 1 
: 3 for education, savings and other expenses respectively. Express her 
usage of income in percentage. 

a. 1 2
33 %,16 %,50%
3 3

  b. 2 1
16 %,50%, 33 %
3 3

 

c. 2 1
16 %, 33 %, 50%,
3 3

  d. 2 1
33 %,16 %,50%
3 3

 

Nuh[h khjr; rk;gskhf � 18,000 Ig; ngWfpwhh;. mth; jdJ rk;gsj;jpy; 
KiwNa fy;tp> Nrkpg;G> kw;Wk; gpw nrytpdq;fSf;F 2 : 1 : 3 vd;w 
tpfpjj;jpy; nryT nra;fpwhh; vdpy;> mtuJ nryitr; rjtPjkhff; 
$Wf 

a. 1 2
33 %,16 %,50%
3 3

  b. 2 1
16 %,50%, 33 %
3 3

 

c. 2 1
16 %, 33 %, 50%,
3 3

  d. 2 1
33 %,16 %,50%
3 3

 

 
44. The common fraction of 1/2 % is 

a. 1/2   b. 1/200  c. 200/100  d. 100 
1/2% ,d; nghJg; gpd;dk; 

a. 1/2   b. 1/200  c. 200/100  d. 100 
 

45. Arun’s income is 20% less than that of Anand. How much percent is 
Anand’s income more than Arun’s income? 
a. 20%  b. 15%  c. 80%  d. 25% 
mUzpd; tUkhdk; Mde;ij tpl 20% FiwT. mUzpd; tUkhdj;ij 
tpl Mde;jpd; tUkhdk; vt;tsT rjtPjk; mjpfk;? 
a. 20%  b. 15%  c. 80%  d. 25% 
 

46. Simplify: 
2

2 4

16 10 64

4 2

× ×

×
 

a. 800  b. 640  c. 420  d. 400 

RUf;Ff: 
2

2 4

16 10 64

4 2

× ×

×
 

a. 800  b. 640  c. 420  d. 400 
 

47. The Value of : 15 5 1 10

16 6 2 11
of
 

− ÷ 
 

 

a. 11/32  b. 32/11  c. 10/11  d. 33/96 
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15 5 1 10

16 6 2 11
of
 

− ÷ 
 

 ,d; kjpg;G 

a. 11/32  b. 32/11  c. 10/11  d. 33/96 
 

48. Simplify (RUf;Ff): 3 3 32 40 3 625 4 320+ −  
a. 3 5    b. 0  c. 33 25   d. 33 5  
 

49. If 1 2x = + , find 
2

1
x
x

 
− 

 
 

a. 3  b. 4  c. 1  d. 2 

1 2x = +  vdpy; 
2

1
x
x

 
− 

 
 ,d; kjpg;G fhz;f 

a. 3  b. 4  c. 1  d. 2 
 

50. The value of (6 6 6 6) 6

4 4 4 4 4

+ + + ÷

+ + + ÷
 

a. 1   b. 3/ 2   c. 4 /13  d. 6
3
13

 

 kjpg;G fhz;f: 
(6 6 6 6) 6

4 4 4 4 4

+ + + ÷

+ + + ÷
 

a. 1   b. 3/ 2   c. 4 /13  d. 6
3
13
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MONTH OF OCTOBER 

TEST III 
 

1 2 3 4 5 6 7 8 9 10 
B C B A B D A B D B 

11 12 13 14 15 16 17 18 19 20 
A A B D D A A B B B 

21 22 23 24 25 26 27 28 29 30 
C C A B D C B B A A 

31 32 33 34 35 36 37 38 39 40 
D B D D B A D A A A 

41 42 43 44 45 46 47 48 49 50 
A C A B D D A D B C 
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a. A is correct, R is correct  b. A is correct, R is incorrect 
c. A is incorrect, R is correct d. A is incorrect, R is incorrect 
 
gpd;tUtdtw;iw Ma;f 
$w;W (A): m];fhhp]; Yk;gphpf;fha;l;l]; cUisg; GOf;fs; 
njhFjpiar; rhh;e;jJ. 
fhuzk; (R): mit %tLf;F caphpdk; kw;Wk; cly; fz;lq;fshf 
gphpf;fg;gl;Ls;sd. 
a. A rhp> R rhp    b. A rhp> R jtW 
c. A jtW> R rhp   d. A jtW> R jtW 
 

4. Consider the following 
Assertion (A): Gymnosperm plants are without ovary 
Reason (R): Hence they do not produce fruits 
a. A is correct, R is correct  b. A is correct, R is incorrect 
c. A is incorrect, R is correct d. A is incorrect, R is incorrect 
gpd;tUtdtw;iw Ma;f 
$w;W (A): [pk;Ndh];ngh;k; jhtuq;fs; #w;ig mw;wit 

fhuzk; (R): ,it fdpfis cz;lhf;Ftjpy;iy 

a. A rhp> R rhp    b. A rhp> R rhpay;y 
c. A rhpay;y> R rhp   d. A rhpay;y> R rhpay;y 
 

5. The largest division of the living world is ________ 
a. Order  b. Kingdom  c. Phylum  d. Family 
caphp cyfpy; kpfg;nghpa gphpT 
a. thpir  b. NgUyfk;  c. njhFjp  d. FLk;gk; 
  

6. Fucoxanthin is __________ coloured pigment 
a. Yellow  b. Red  c. Blue  d. Brown 
gpa+Nfhrhe;jpd; xU ______ epw epwkpahFk; 
a. kQ;rs;  b. rptg;G  c. ePyk;  d. gOg;G 

 
7. Which one of the following is the symbiotic fungi? 

a. Mycorrhiza  b. Rhizopus c. Puccinia  d. Ustilago 
gpd;tUtdtw;Ws; vJ $l;Laphp g+Q;irahFk;? 
a. ikf;Nfhiurh  b. iuNrhg]; c. gf;rPdpah d. c];bNyhNfh 

 
8. Tobacco Mosaic virus is a _______ shaped virus 

a. Spherical  b. Helical  c. Rod  d. Complex 
Gifapiy nkhirf; itu]; xU ______ tbtk; cilaJ 

a. Nfhs tbtk;  b. jpUF  c. Nfhy;  d. rpf;fyhd 
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9. Match the following 

A. Cyanophyceae  1. Polysiphonia 
B. Chlorophyceae  2. Laminaria 
C. Phacophyceae  3. Oscillatoria 
D. Rhodophyceae  4. Chylamydomonas 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 3 1 2 
d. 3 4 2 1 
nghUj;Jf 
A. ePyg;gr;irghrpfs;  1. ghypi]/Nghdpah 

B. gr;irghrpfs;   2. NykpNdhpah 

C. gOg;G ghrpfs;  3. Mrpyl;Nlhhpah 

D. rptg;G ghrpfs;  4. fpshikNlhNkhd]; 

 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 3 1 2 
d. 3 4 2 1 
  

10. Which algae are called as giant kelp? 
a. Volvox  b. Macrocystis   c. Cladophora  d. Lichen 
ve;j ghrpfs; nghpa nfy;g; vd;W miof;fg;gLfpd;wd? 
a. thy;thf;]; b. Nkf;Nuhrp];b]; c. fpshNlhNghuh  d. iyf;fd; 
 

11. Which hormone initiates the process of oogenesis? 
a. Estrogens b. Progesterone c. Testosterone  d. Thymosin 
mz;lr;nry; cUthf;fj;ij J}z;Lk; `hh;Nkhd; vJ? 
a. <];l;Nuh[d;   b. GNuhn[];l;uhd; 

c. nl];Nlh];Buhd;  d. ijNkhrpd; 
 

12. Which hormone essential for the formation of placenta? 
a. Progesterone  b. Estrogens c. Relaxin  d. Oxytosin 
ve;j `hh;Nkhd; jha;-Nra; ,izg;Gj;jpR cUthf;fj;jpw;f 
mtrpakhfpwJ? 
a. GNuhn[];bNuhd; b. <];l;Nuh[d; c. hpyhf;rpd; d. Mf;rpNlhrpd; 
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13. Kurosawa observed Bakanae disease or foolish seedling disease in 
which crop? 
a. Wheat  b. Rice  c. Tobacco  d. Cauliflower 
FUNrhth ve;j gaphpy; “gf;fhNd Neha;” my;yJ “Nfhkhspj;jd 
Nehia” fz;lwpe;jhh;? 

a. NfhJik b. ney;  c. Gifapiy d. fhypgpsth; 
 

14. Human Insulin was first discovered by whom? 
a. Fredrick Banting   b. Charles Best 
c. MacLeod     d. All of these 
kdpj ,d;Rypd; Kjd;Kjypy; ahuhy; fz;lwpag;gl;lJ? 
a. /gpnul;hpf; ghd;bq;   b. rhh;y]; ng];l; 

c. nkf;yhl;    d. ,it midj;Jk; 

 
15. The Corona radiata is formed as _______ cells in ovum 

a. Leydig cells   b. Sertoli cells  
c. Vitelline cells   d. Follicle cells 
mz;lj;jpYs;s fNuhdh NubNal;lh ______ nry;fshy; MdJ 

a. yPbf; nry;fs;   b. nrh;l;Nlhyp nry;fs; 
c. tpl;lypd; nry;fs;  d. ghypf;fps; nry;fs; 
 

16. Mangrove plants meet high osmotic pressure in the soil, they overcome 
the problem of water uptake by 
a. accumulation of electrolytes in the vacuole of the cell 
b. increase in the root and shoot ratio 
c. reduce the respiration rate 
d. reduce the evaporation rate 
rJg;Gepy jhtuq;fs; kz;zpYs;s mjpfg;gbahd rt;t+L guty; 
mOj;jj;ij vjph; nfhs;fpd;wd.  ePh; cwpQ;Rjiy rhpnra;a mitfs;  
a. vyf;l;Nuhiyl;Lfis nry;ypd; fhw;W ntw;wplq;fspy; Ftpf;fpd;wd. 
b. Nth; kw;Wk; jz;L tpfpjj;ij mjpfhpf;fpd;wd.  
c. Rthr msit Fiwf;fpd;wd 
d. ePuhtpg; Nghf;fpd; msit Fiwf;fpd;wd. 

 
17. _________ do not take part in mitotic division 

a. Hetero chromatin   b. Euchromatin 
c. Nucleosome    d. Lamp brush chromosome  
_________ ikl;lhrp]; nry; gphpjypy; gq;F ngWtjpy;iy. 
a. n`l;bNuh FNuhNkhl;bd;  b. a+FNuhNkl;bd; 
c. epa+f;spNah Nrhk;     d. Nyk;g;gpu]; FNuhNkhNrhk;  
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18. Which of the following fact is incorrect about mitosis? 

a. It occurs only in body cells 
b. Mitosis has two divisions 
c. Maintenance of 2n chromosomes 
d. Two diploid cells are produced 
ikl;lhrp]; gw;wpa gpd;tUk; $w;Wfspy; jtwhdJ vJ? 
a. cly; nry;fspy; kl;Lk; eilngWfpwJ 
b. ikl;lhrp]; ,U gFg;Gfisf; nfhz;lJ 

c. ‘2n’ FNuhNkhNrhk;fs; epiyepWj;jg;gLfpwJ 
d. ,U ,Ukanry;fs; Njhd;Wfpd;wd 

 
19. Which of the following facts are correct about prokaryotic cells 

I. Prominent nucleus is absent 
II. Nucleolus is present 
III. Mitosis and meiosis cell divisions are takes place 
IV. Enveloped cell organelles are absent 
a. I and II are correct   b. I and IV are correct 
c. II and III are correct  d. III and IV are correct 
gpd;tUk; GNuhNfhpNahl;L nry;fs; gw;wpa $w;Wfspy; rhpahdit vit? 
I. njspthd cl;fU fpilahJ 
II. epa+f;spNahy]; fhzg;gLfpwJ 
III. ikl;lhrp]; kw;Wk; kpahrp]; nry;gphpjy; eilngWfpwJ  
IV. rt;tpdhy; #og;gl;l nry; Ez;ZWg;Gfs; fpilahJ 
a. I kw;Wk; II rhp   b. I kw;Wk; IV rhp 
c. II kw;Wk; III rhp   d. III kw;Wk; IV rhp 

 
20. Which organelle of the following occurs only in plant cells? 

a. Peroxisome    b. Glyoxysome   
c. Desmosome   d. Ribosome 
jhtu nry;fspy; kl;Lk; ,Uf;Fk; Ez;ZWg;G vJ? 
a. nguhf;]pNrhk;   b. fpisahf;]pNrhk; 
c. nl];NkhNrhk;   d. iuNghNrhk; 

 
21. Match List I (chromoplasts) with List II (Pigment contents)  

List I       List II 
 A. Chloroplasts    1. Phycocyanin 

B. Pheoplasts    2. Phycoerythrin  
C. Rhodoplasts    3. Fucoxanthin 
D. Blue – green chromoplasts 4. Chlorophull a and b  
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  A B C D 
 a. 2 3 1 4  
 b. 3 2 4 1  
 c. 4 3 2 1  
 d. 4 2 1 3 

gl;bay; xd;Wld; (tz;zf; fzpfq;fs;) gl;bay; ,uz;il 
(epwkpf;$Wfs;) nghUj;Jf: 

  gl;bay; - I     gl;bay; - II 
A. gRq;fzpfq;fs;     1. /igNfhradpd; 

B. gOg;Gf;fzpfq;fs;     2. /igNfhvhpj;hpd; 

C. rptg;Gf; fzpfq;fs;    3. /g;A+Nfhrhe;jpd; 

D. ePyg; - gr;ir tz;zf; fzpfq;fs ; 4. gr;irak; V kw;Wk; gp 

  A B C D 
 a. 2 3 1 4  
 b. 3 2 4 1  
 c. 4 3 2 1  
 d. 4 2 1 3 
 
22. The vernacular name of this small herb with leaves sensitive to touch is 

a. Mimosa quadrivalvis   b. Mimosa microphylla 
c. Mimosa pudica    d. Mimosa pellita 
njhL czh;T kpFe;j ,iyfs; nfhz;l rpW nrb ,jd; jhtu ngah; 
_______ MFk;. 

a. ikNkhrh Fthl;Nu];FNyhp];  b. ikNkhrh ikf;Nuh/igy;yh 
c. ikNkhrh g+bfh     d. ikNkhrh ngy;ypl;lh 

 
23. Which of the following characters is true about fungi? They are  
 a. heterotrophic plants   b. chlorophylls plants 
 c. prokaryotic plants    d. autotrophic animals 
 fPNo nfhLf;fg;gl;ltw;wpy; G+Q;iriag; gw;wpa cz;ik vJ? mitfs;  
 a. n`l;bNuhbuhg;gpf; jhtuq;fs;  b. gr;raKila jhtuq;fs;  

 c. GNuhf;Nfhpahl;bf; jhtuq;fs;   d. Ml;Nlhbuhgpf; tpyq;Ffs;  

 
24. _____ is composed of one or more cenospecies that are not able to 

intercross 
a. Family  b. Comparium c. Herbarium d. Ecospecies 
_____ xd;W my;yJ gy $l;Lr; rpw;wpdq;fisf; nfhz;l fyg;gpdf; 
fy;tp nra;ahj jhtuf; FOthFk;. 
a. FLk;gk;   b. fk;Nghpak;  c. n`h;Nghpak;  d. #o;epiyr; rpw;wpdk;  
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25. Which is the native place of Eucalyptus? 

a. Asia  b. Antarctica  c. Africa  d. Australia 
a+f;fypg;l]; kuq;fspd; g+h;tPfk; vJ? 
a. Mrpah   b. mz;lhh;bfh   c. Mg;gphpf;fh   d. M];jpNuypah 

 
26. The production of Phyto-Plankton is reduced due to 

a. The burning of hydrocarbon  b. Deforestation 
c. Depletion of ozone layer   d. Climatic change  
/igl;Nlh gpshq;ld; cw;gj;jp Fiwaf; fhuzk; 
a. i`l;Nuh fhh;gd;fis vhpj;jy;  b. fhLfspd; mopT 
c. XNrhd; gly rPuopT     d. thdpiy khw;wg;gLjy; 

 
27. During centrifugation which one of the following will settle down last 

a. Chloroplast b. Ribosomes c. Mitochondria  d. Nucleus 
ikatpyf;F (centrifugation) nra;Ak;nghOJ fPo;fz;ltw;wpy; vit 
filrpahf tPo;gbthfpwJ. 
a. FNshNuhgpsh];l;   b. hpNghNrhk;fs; 
c. ikl;Nlh fhz;l;hpah  d. epa+f;spa]; 

 
28. Growth of plants only in water without soil is called 

a. Hypertonic   b. Hydroponics 
c. Hydrolytic   d. Hypotonic 
jhtuq;fis kz; ,y;yhky; jz;zPhpy; kl;Lk; tsh;f;Fk; Kiw ,t;thW 
miof;fg;gLfpwJ? 
a. i`g;gh;Nlhdpf;  b. i`l;NuhNghdpf;]; 

c. i`l;Nuhiybf;  d. i`g;NghNlhdpf; 

 
29. Match the following:   

Name of the Organism  Activity 
A. BGA and Rhizobium  1. Ammonification 
B. Bacteria and fungi   2. N2 fixation 
C. Pseudomonas bacteria  3. Nitrification 
D. Nitrobacteria    4. Denitrification 

A B C D 
a.  2 1 4 3 
b.  2 1 3 4 
c.  2 3 4 1 
d.  2 3 1 4 
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fPo;f;fz;ltw;iw nghUj;Jf. 
caphpdj;jpd; ngah;   nray; 
A. BGA kw;Wk; iuNrhgpak;  1. mNkhdpakhf;fy; 

B. ghf;l;hPah kw;Wk; g+Q;irfs; 2. iel;u[d; epiyepWj;jy; 

C. #NlhNkhdh]; ghf;l;hPah  3. iel;hpgpNf~d;  

D. iel;Nuh ghf;l;hPah   4. B-iel;hpgpNf~d; 

A B C D 
a.  2 1 4 3 
b.  2 1 3 4 
c.  2 3 4 1 
d.  2 3 1 4 

 
30. Approximate number of cells in the human body is 

a. 3.7 x 1013 b. 3.7 x 1014  c. 3.7 x 1012  d. 3.7 x 1015 

kdpj clypy; cs;s nry;fspd; vz;zpf;if Njhuhakhf  
a. 3.7 � 1013 b. 3.7 � 1014  c. 3.7 � 1012  d. 3.7 � 1015   

 
31. Which part of the cell is the brain of a cell? 

a. Lysosome b. Mitochondria   c. Ribosome d. Nucleus 
nry;ypd; %isahff; nray;gLk; nry;ypd; ghfk; vJ?  
a. iyNrhNrhk;  b. ikl;Nlhfhz;lhpah  c. iuNghNrhk; d. cl;fU  

 
32. Cellular organells with membrane are  

a. Endoplasmic Reticulum, Ribosomes and nuclei 
b. Lysosome, Golgi apparatus and Mitochondria 
c. Nuclei, Ribosome and Mitochondria 
d. Chromosome, Ribosome and Endoplasmic reticulum 
ciwAld; $ba nry; Ez;ZWg;Gf;fshdit 
a. vz;Nlhgpshr tiy> iuNghNrhk; kw;Wk; epA+f;spa];fs;  

b. iyNrhNrhk;> Nfhy;if cWg;G kw;Wk; ikl;Nlhfhz;l;hpah  

c. epA+f;spay;fs;> iuNghNrhk; kw;Wk; ikl;Nlhfhz;l;hpah  

d. FNuhNkhNrhk;> iuNghNrhk;> kw;Wk; vz;Nlhgpshrtiy 
 
33. Which of the following is not the function of cell wall? 

i. Provides shape to the cell. 
ii. Protects the cell from mechanical damage and infection. 
iii. Helps in cell to cell interaction. 
iv. Provides barrier to undesirable macromolecules. 
a. (i) only    b. (iv) only c. (ii), (iii) and (iv)     d. None of the above 
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fPo;f;fz;ltw;wpy; vJ nry;Rthpd; gzp ,y;iy?  
i. nry;Yf;F tbtj;ij mspf;fpwJ.  
ii. nry;iy mjd; ,af;f Nrjk; kw;Wk; Neha; njhw;wpypUe;J 

ghJfhf;fpwJ.  
iii. nry;fSf;fpilNa njhlh;ig vw;gLj;JfpwJ.  
iv. tpUk;gj;jfhj %yf;$WfSf;F jilahf tpsq;FfpwJ.  

a. i kl;Lk;    b. iv kl;Lk;  
c. ii, iii kw;Wk; iv   d. Nkw;fz;ltw;wpy; vJTkpy;iy  

 
34. Lysosomes originate from 

a. Mitochondrian b. Nucleus  c. ER  d. Golgi bodies 
iyNrhNrhk;fs; ________ ypUe;J cUthfpd;wJ 

a. ikl;Nlhfhz;l;hpad;   b. epA+f;spa]; 

c. vz;Nlhgpshr tiy   d. Nfhy;if clyk;  

 
35. What is true about Ribosome? 

a. The Prokaryotic ribosome are 80s. where ‘S’ stands for 
sedimentation        Co-efficient. 

b. They are composed of ribonucleic acids and proteins. 
c. They are found only in eukaryotic cells. 
d. These are self-splicing introns of some RNAs. 
iuNghNrhk; gw;wpa rhpahd $w;iw Njh;e;njL  
a. GNuhNfhpNahl;Lfspd; iuNghNrhk;fs; myF 80S 'S" vd;gJ   

tPo;gbthjy; Fzfk;  
b. iuNghepA+f;spf; mkpyk; kw;Wk; Gujq;fshy; MdJ  
c. A+Nfhpahl;L nry;fspy; kl;Lk; fhzg;gLk;  

d. Nehpilahd gpsT vd;l;uhd;fSil RNA MFk;.  

 
36. Consider the following Endocrine glands: 

1. Islets of Langerhans   - Produce Insulin 
2. Thyroid gland   - Produce diabetes 
3. Adrenal gland   - Produce Goitre 
Which of the following is correctly matched? 
a. 1 only  b. 1 and 2 only c. 2 and 3 only  d. 1, 2 and 3 
fPo;nfhLf;fg;gl;Ls;s ehskpy;yh Rug;gpfspy; vJ rhpahf nghUe;Jk;: 
1. yhq;fh;fhd; jpl;Lfs; - ,d;Rypid nfhLf;Fk;  
2. ijuha;L Rug;gp   - rh;f;fiu tpahjpia nfhLf;Fk;  
3. ml;hpdy; Rug;gp   - Kd; fOj;J fyioia nfhLf;Fk;  
a. 1 kl;Lk;    b. 1 kw;Wk; 2 kl;Lk;  
c. 2 kw;Wk; 3 kl;Lk;   d. 1> 2 kw;Wk; 3 
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37. Which hormone causes emotional disturbances? 
a. Thyroxine b. Oxytocin  c. Vasopressin d. Adrenalin 
ve;j `hh;Nkhdhy; czh;r;rp tag;gl;l njhe;juTfs; Vw;gLj;JfpwJ. 
a. ijuh]pd;   b. Mf;]p lhf;]pd;   c. thNrhgpurpd;   d. ml;hpdypd; 

 
38. The seminiferous tubule is the supporting cells are cells of specialized 

functions called 
a. cells of sertoli  b. cells of labules 
c. cells of ledig   d. Cells of scrotum 
Mz; ,dg;ngUf;f cWg;gpy; nrkpdpgpu]; nry;Yf;F gf;fgykhf ,Uf;f 
$ba rpwg;G gzpfis nra;af;$ba nry;fs; 
a. nrul;Nlhyp nry;fs; b. NygpNahy; nry;fs; 
c. yPbf; nry;fs;   d. tpijg;igapy; cs;s nry;fs; 

 
39. Human ovum contains no yolk. How can we call it? 

a. Alecithel Egg    b. Isolecithel Egg   
c. Mesolecithel Egg   d. Telolecithel Egg 
fUTzT mw;w kdpj mz;l mZtpid vt;thW miof;fyhk;?  
a. Vnyrpj;jy; Kl;il   b. INrhnyrpj;jy; Kl;il  
c. kPNrhnyrpj;jy; Kl;il  d. BNyhnyrpj;jy; Kl;il 

 
40. The hormones secreted by neurohypophysis are 

a. Vasopressin and Oxytocin 
b. FSH and TSH 
c. Neurohormones and Teratohormones 
d. ACTH and CCTH 
epa+Nuhi`g;Ngh igrp];rhy; Ruf;fg;gLk; `hh;Nkhd;fs; 
a. thNrhgpurpd; kw;Wk; Mf;]plhrpd; 

b. vg;.v];.vr;. kw;Wk; b.v];.vr;. 

c. epa+Nuh`hh;Nkhd; kw;Wk; nluNlh`hh;Nkhd; 

d. V.rp.b.vr;.  kw;Wk; rp.rp.b.vr;. 
 

41. In class of 50, 23 were girls and the rest were boys. What is the 
percentage of boys? 
a. 54%   b. 13.5%  c. 27%  d. 46% 
50 Ngh; nfhz;l tFg;gpy;> 23 khztpfs; kw;wth;fs; khzth;fs; vdpy; 
khzth;fspd; rjtPjk; vd;d? 
a. 54%   b. 13.5%  c. 27%  d. 46% 

 

42. The population of a town is increasing at the rate of 6% p.a. It was 
238765 in the year 2018. Find the population in the year 2016 
a. 225637  b. 268276  c. 212500  d. 220045 
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xU efuj;jpd; kf;fs;njhif Mz;Lf;F 6% mjpfhpf;fpwJ. 2018Mk; 
Mz;L kf;fs;njhif 238765 Mf ,Ue;jJ vdpy;> 2016Mk; Mz;L 
kf;fs;njhifiaf; fhz;f 
a. 225637  b. 268276  c. 212500  d. 220045 
 

43. Roja earned � 18,000 per month. She utilized her salary in the ratio 2 : 1 
: 3 for education, savings and other expenses respectively. Express her 
usage of income in percentage. 

a. 1 2
33 %,16 %,50%
3 3

  b. 2 1
16 %,50%, 33 %
3 3

 

c. 2 1
16 %, 33 %, 50%,
3 3

  d. 2 1
33 %,16 %,50%
3 3

 

Nuh[h khjr; rk;gskhf � 18,000 Ig; ngWfpwhh;. mth; jdJ rk;gsj;jpy; 
KiwNa fy;tp> Nrkpg;G> kw;Wk; gpw nrytpdq;fSf;F 2 : 1 : 3 vd;w 
tpfpjj;jpy; nryT nra;fpwhh; vdpy;> mtuJ nryitr; rjtPjkhff; 
$Wf 

a. 1 2
33 %,16 %,50%
3 3

  b. 2 1
16 %,50%, 33 %
3 3

 

c. 2 1
16 %, 33 %, 50%,
3 3

  d. 2 1
33 %,16 %,50%
3 3

 

 
44. The common fraction of 1/2 % is 

a. 1/2   b. 1/200  c. 200/100  d. 100 
1/2% ,d; nghJg; gpd;dk; 

a. 1/2   b. 1/200  c. 200/100  d. 100 
 

45. Arun’s income is 20% less than that of Anand. How much percent is 
Anand’s income more than Arun’s income? 
a. 20%  b. 15%  c. 80%  d. 25% 
mUzpd; tUkhdk; Mde;ij tpl 20% FiwT. mUzpd; tUkhdj;ij 
tpl Mde;jpd; tUkhdk; vt;tsT rjtPjk; mjpfk;? 
a. 20%  b. 15%  c. 80%  d. 25% 
 

46. Simplify: 
2

2 4

16 10 64

4 2

× ×

×
 

a. 800  b. 640  c. 420  d. 400 

RUf;Ff: 
2

2 4

16 10 64

4 2

× ×

×
 

a. 800  b. 640  c. 420  d. 400 
 

47. The Value of : 15 5 1 10

16 6 2 11
of
 

− ÷ 
 

 

a. 11/32  b. 32/11  c. 10/11  d. 33/96 
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15 5 1 10

16 6 2 11
of
 

− ÷ 
 

 ,d; kjpg;G 

a. 11/32  b. 32/11  c. 10/11  d. 33/96 
 

48. Simplify (RUf;Ff): 3 3 32 40 3 625 4 320+ −  
a. 3 5    b. 0  c. 33 25   d. 33 5  
 

49. If 1 2x = + , find 
2

1
x
x

 
− 

 
 

a. 3  b. 4  c. 1  d. 2 

1 2x = +  vdpy; 
2

1
x
x

 
− 

 
 ,d; kjpg;G fhz;f 

a. 3  b. 4  c. 1  d. 2 
 

50. The value of (6 6 6 6) 6

4 4 4 4 4

+ + + ÷

+ + + ÷
 

a. 1   b. 3/ 2   c. 4 /13  d. 6
3
13

 

 kjpg;G fhz;f: 
(6 6 6 6) 6

4 4 4 4 4

+ + + ÷

+ + + ÷
 

a. 1   b. 3/ 2   c. 4 /13  d. 6
3
13

 

  
  



 

13 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187  

 

 

 

MONTH OF OCTOBER 

TEST III 
 

1 2 3 4 5 6 7 8 9 10 
B C B A B D A B D B 

11 12 13 14 15 16 17 18 19 20 
A A B D D A A B B B 

21 22 23 24 25 26 27 28 29 30 
C C A B D C B B A A 

31 32 33 34 35 36 37 38 39 40 
D B D D B A D A A A 

41 42 43 44 45 46 47 48 49 50 
A C A B D D A D B C 

  
  


